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Area=1/2.BC.BA.sinB

Area=1/S.(S-a).(S—b).(5—-0) : S=%.(a+b+c)
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:(Parallelogram) iMM &3l gie 31

Area = a b [@3sin A.

Area =% ACZBD F2sin ZBOC

W Trapezium) &b y=eil) i 41

Area =12 parallel sides .Zperpendicular height
Area=(AD +BC).h/2
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Areas by Coordinates 1l uo¥ aluseiwl Slo Lud | wlus 51
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adeel) Jrad w1l
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IL_JLI_” Judl @ DGR 9D LS
(0l ooy
B b
A
C
I
I
E D
aaadl X (m) Y (m)
A 364.392 674.345
B 526.937 715.825
C 682.910 562.826
D 561.039 328.426
E 385.491 351.813

Area = %‘{[(YA' XB)+ (YB ) Xc)+(Yc ) XD)+(YD | XE)+(YE ’ XA)] -
[(XA 'YB)+(XB 'Yc)"'(xc 'YD)+(XD 'YE)+(XE 'YA)]}
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Area(ABCDE)=%-(1414751828—1239034889)=87857.9695m2

(N;i =Y, BEi=X, 0l 1) QW Jemsanll Joazll 389 lluce) wilass ¢ Sa

Pt | Northing Easting NxE ExN
A | 674.345 | 364.392

Na X Eg = 355,337.331 | Ea x Ng = 260,840.903

B | 715.825 | 526.937

Ng X Ec =488,844.051 | Eg x N =296,573.844

C | 562.826 | 682.910

N X Ep =315,767.336 | Ec x Np =224,285.400

D | 328.426 | 561.039

Np X Eg = 126,605.267 | Ep x Ng = 197,380.814

E | 351.813 | 385.491

Ne X Ea = 128,197.843 | Eg x N4 = 259,953.928

A | 674.345 | 364.392

>=1,414,751.828 >=1,239,034.889
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Areaof Trapezoid (1):¥- B

Areaof Trapezoid(2) =%~ B

Areaof Trapezoid(3) :%- B
Areaof Trapezoid(4) :%- B
Areaof Trapezoid(5) :%- B
Areaof Trapezoid (6)=¥- B

e haz caiilly pazlly
Area:g-(AﬁZA2 +2A+2A,+2A +2A,+A)

18y3 1 Ly o

Area = Interval (%[first offset + last offset] +2 intermediates)
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Area of regular figure = 40 x 60 = 2400m2
rebatie pall e sl Ao luw clus 0y @3 (09

Interval = 10m

First offset =53 — 40 =13m
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Last offset =49 — 40 = 9m

Intermediate offsets =12, 10, 11, 12 and 8 m

2. of Intermediate offsets =12+ 10+ 11+ 12 +8=53m

Area = Interval x (%/first + last] +2. intermediates)

=10x(%[13+9] +53) = 10x(11+53) = 10x (64) = 640 ni°

Total Area = Area of regular figure + area of irregular figure

= 2400 + 640 = 3040 m".
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Areal=21x56.580=1,188.180 m"
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Area = Intervalx (%/first + last] +2. intermediates)

Area 2=10x (%3[8.56 + 9.10] +[9.29 + 8.93 + 8.74 + 8.14])
=439.300m"

(1Y) ollas padl 8l dis dolice olu 1(3) Bolal|
Area3 =1 x (AB + DC) x interval
=1x(9.10+8.95)x 6.580 = 59.385 m"
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Total Area = Areal + Area2 + Area3

=17,188.180 + 439.300 + 59.385 = 1,686.865 m
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Alternative Methods of Solution of Area of Irregular Figure

Graphical Methods
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